When you turn up the volume on your sound system, .. 

A) the speaker cone oscillates back and forth more rapidly, completing more cycles per second 
B) the speaker cone oscillates back and forth more slowly, completing fewer cycles per second 

C) the speaker cones oscillates back and forth farther in each cycle

D) the speaker cones oscillates back and forth a shorter distance in each cycle

E) None of these

The air pressure inside the Space Station is p = 12 pounds per square inch.  There are two square windows in the Space Station: a little one and a big one.  The big window is 30 cm on a side.  The little window is 15 cm on a side.  How does the pressure on the big window compare to the pressure on the little window?
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A) same pressure on both windows

B) 2 times more pressure on the big window

C) 4 times more pressure on the big window

D) 9 times more pressure on the big window

E) None of these
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Please do not open windows








